# Series representations for densities functions of a family of distributions— Application to sums of independent random variables

## Filipe J. Marques<sup>1,\*</sup>, M. Theodor Loots<sup>2</sup> and Andriëtte Bekker<sup>2</sup>

<sup>1</sup>Centro de Matemática e Aplicações, Departamento de Matemática, Faculdade de Ciências e Tecnologia da Universidade Nova de Lisboa, Caparica, Portugal

<sup>2</sup>Department of Statistics, Faculty of Natural and Agricultural Sciences, University of Pretoria, Pretoria, South Africa

#### \*Correspondence

Filipe J. Marques, Centro de Matemática e Aplicações, Departamento de Matemática, Faculdade de Ciências e Tecnologia da Universidade Nova de Lisboa. Email: fjm@fct.unl.pt

#### Abstract

Series representations for several density functions are obtained as mixtures of generalized gamma distributions with discrete mass probability weights, by using the exponential expansion and the binomial theorem. Based on these results, approximations based on mixtures of generalized gamma distributions are proposed to approximate the distribution of the sum of independent random variables, which may not be identically distributed. The applicability of the proposed approximations are illustrated for the sum of independent Rayleigh random variables, the sum of independent gamma random variables, and the sum of independent Weibull random variables. Numerical studies are presented to assess the precision of these approximations.

Keywords: binomial theorem, exponential expansion, generalized gamma distribution, mixtures

#### **Funding information**

Fundação para a Ciência e a Tecnologia, Grant/Award Number: UID/MAT/00297/2013

MSC Classification: 62E10; 62E15; 62E20; 62E17; 62P30

#### 1. Introduction

The exponential power series and the binomial expansion<sup>1,2</sup> are two important results in mathematics and physics. In this work, it is shown how these results may be used to obtain new series representations for density functions of well-known distributions in statistics. These new representations may be used in problems related to the algebra of random variables. The motivation for this work has its origin in some familiar expansions; for example, if one considers a gamma random variable *Y* with scale parameter  $\lambda$  and shape parameter *r*, denoted by  $Y \sim \Gamma(r, \lambda)$ , its density is given by

$$f_Y(y) = \frac{1}{\Gamma(r)\lambda^r} y^{r-1} \exp\left\{-\frac{y}{\lambda}\right\}, \quad y > 0.$$
 (1)

As it is shown in the study of Marques,<sup>3</sup> for  $\delta > 0$  and  $\delta \neq \lambda$ , the density in (1) may be represented as follows:

$$f_Y(y) = \sum_{j=0}^{\infty} p_j f_{X_j}(y),$$

which is the density of a mixture of gamma distributions,  $X_j \sim \Gamma(r + j, \delta)$ , with weights given in expression 1 of the study of Marques.<sup>3</sup> Note that when  $\frac{\lambda}{\delta} < 1$ , the weights are given by the mass probability function of a discrete negative binomial

distribution. In the above representations, the parameter  $\delta \neq \lambda$  can be chosen such that if more than one gamma random variable is observed, gamma series representations, for all the gamma random variables, with all the gamma distributions involved in the series representations with the same scale parameter may be considered. This is a convenient feature that can be used to obtain an exact representation for the sum of independent gamma random variables.<sup>3</sup> In the same reference, using the exponential expansion together with the binomial expansion, the authors developed a series gamma representation for the logbeta distribution with all the gamma distributions in the series having the same scale parameter. This latter result was used to obtain exact representations for the product of independent beta random variables and for the sum of independent logbeta random variables.

In this work, the generalized gamma distribution<sup>4</sup> is addressed, and series representations for this distribution are developed, as well as for its particular cases. The generalized gamma distribution may be applied in different applied fields of research (see, for example, the previous studies;<sup>5-10</sup> some of the applications will be detailed ahead). In addition, some of its particular cases play an important role in different fields of statistics, such as, for example, the Weibull distribution in survival analysis and in extreme value theory, the gamma distribution in insurance claims, rainfall and in Bayesian statistics as a conjugate prior for the exponential distribution, and finally the Rayleigh distribution in engineering and physical sciences. It is shown that a generalized gamma distribution can be represented as an infinite mixture of generalized gamma distribution. This series representation applies to all the particular cases of the generalized gamma distribution. Then, using the obtained representation as a basis, finite mixtures of generalized gamma distributions are considered for approximating the distribution of the sum of independent Rayleigh, Weibull, and gamma random variables. These approximations are based on a two-step method of moments and may easily be used since they are based on a finite mixture. The practical utility of these results is illustrated in engineering problems.

This paper is organized as follows: in Section 2, it is shown that the density of a generalized gamma distribution may be represented as a gamma-series expansion or as a mixture of generalized gamma distributions with negative binomial weights. The particular cases of this distribution are then also analyzed. In Section 3, simple approximations are obtained for the sum of independent Rayleigh, gamma, and Weibull random variables. Still in Section 3, numerical studies are developed in order to illustrate the precision of the approximations proposed, together with examples of application to illustrate the practical importance of the results provided. Finally, Section 4, is dedicated to the discussion and conclusions.

# 2. Series Representations for the Generalized Gamma Distribution and for its Particular Cases

The generalized gamma distribution<sup>4</sup> has several well-known distributions as particular cases such as the gamma, Rayleigh, and Weibull distributions (for more particular cases see, for example, the studies of Coelho and Arnold<sup>6</sup> and Crooks<sup>11</sup>). Because of its flexibility, this distribution has several applications in different areas of research. In the study of Aalo,<sup>5</sup> the generalized gamma distribution was used to characterize both multipath and shadow fading processes in wireless communication systems; in the study of Smirnov,<sup>8</sup> it was used as an approximation for the real line shape of a scintillation detector, and in the studies of Zaninetti,<sup>9,10</sup> it was used to model the luminosity function of galaxies (see the studies of Coelho and Arnold and Marques and Loingeville<sup>6,7</sup> for other examples of application). A random variable *X* has a generalized gamma distribution if its density function is given by

$$f(x) = \frac{\gamma e^{-\left(\frac{x-\mu}{\beta}\right)^{\gamma}} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1}}{\beta \Gamma(\alpha)},$$
(2)

with  $\alpha > 0$ ,  $\beta > 0$ ,  $\gamma > 0$  and  $\mu \in \mathbb{R}$  and is denoted by  $X \sim G\Gamma(\alpha, \beta, \gamma, \mu)$ . The *h*-th moment of *X* is given by

$$E(X^h) = \frac{\beta^h \Gamma\left(\alpha + \frac{h}{\gamma}\right)}{\Gamma(\alpha)}.$$

The characteristic function of X is not known, but since X has moments of any order, the following expansion is considered

$$\Phi_X(t) = \sum_{n=0}^{\infty} \frac{(\mathrm{i}t)^n}{n!} \frac{\beta^n \Gamma\left(\alpha + \frac{n}{\gamma}\right)}{\Gamma(\alpha)},$$

where  $\Phi_X(.)$  denotes the characteristic function of X,  $i = \sqrt{-1}$  and  $t \in \mathbb{R}$ .

Other representations or extensions of the generalized gamma distribution exist in the literature; see, for example, the studies of Bourguignon et al, Cordeiro et al, and Nadarajah and Gupta.<sup>12-14</sup>

The following theorem shows that the density of a generalized gamma distribution may be represented as follows: (a) an infinite gamma-series expansion or (b) a mixture of generalized gamma distributions.

**Theorem 2.1.** Let  $X \sim G\Gamma(\alpha, \beta, \gamma, \mu)$ , then, for a given positive real  $\lambda$ , the density of X has the following series representations:

*(a)* 

$$f_X(x) = \sum_{n=0}^{\infty} \sum_{k=0}^n p_{n,k} f_{\Gamma(\gamma(n-k)+k+\alpha\gamma,\lambda)}(x-\mu), x > 0,$$

with the coefficients  $p_{n,k}$  given by

$$p_{n,k} = \binom{n}{k} \left( -\left(\frac{1}{\beta}\right)^{\gamma} \right)^{n-k} \left(\frac{1}{\lambda}\right)^{k} \frac{\gamma \Gamma(\gamma(n-k)+k+\alpha\gamma) \lambda^{\gamma(n-k)+k+\alpha\gamma}}{\beta^{\alpha\gamma} \Gamma(\alpha) n!}$$

and where  $f_{\Gamma(\gamma(n-k)+k+\alpha\gamma,\lambda)}(.)$ , for a given k and n, denotes the density function of a gamma distribution with shape parameter  $\gamma(n-k) + k + \alpha\gamma$  and scale parameter  $\lambda$ .

(b) for  $\lambda < \beta$ ,

$$f_X(x) = \sum_{n=0}^{\infty} f_{NB\left(\alpha, \left(\frac{\beta}{\lambda}\right)^{-\gamma}\right)}(n) f_{G\Gamma(n+\alpha,\lambda,\gamma,\mu)}(x), x > 0,$$
(3)

where  $f_{NB\left(\alpha,\left(\frac{\beta}{\lambda}\right)^{-\gamma}\right)}(.)$  is the mass probability function of a negative binomial distribution with parameters  $\alpha$  and  $\left(\frac{\beta}{\lambda}\right)^{-\gamma}$  and, for a given  $n, f_{G\Gamma(n+\alpha,\lambda,\gamma,\mu)}(.)$  is the density function of a generalized gamma distribution with parameters  $n + \alpha, \lambda, \gamma, \mu$ .

Proof.

(a) For a given  $\lambda > 0$ , it is written that

$$f(x) = \frac{\gamma \exp\left\{-\left(\frac{x-\mu}{\beta}\right)^{\gamma}\right\} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1}}{\beta\Gamma(\alpha)} \frac{\exp\left\{\left(\frac{x-\mu}{\beta}\right)^{\gamma} - \frac{x-\mu}{\lambda}\right\}}{\exp\left\{\left(\frac{x-\mu}{\beta}\right)^{\gamma} - \frac{x-\mu}{\lambda}\right\}}$$
$$= \frac{\gamma}{\beta\Gamma(\alpha)} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1} \exp\left\{-\left(\frac{x-\mu}{\beta}\right)^{\gamma} + \frac{x-\mu}{\lambda}\right\} \exp\left\{-\frac{x-\mu}{\lambda}\right\}$$

then applying the exponential expansion on the factor  $\exp\left\{-\left(\frac{x-\mu}{\beta}\right)^{\gamma} + \frac{x-\mu}{\lambda}\right\}$ , it is obtained that

$$f(x) = \frac{\gamma}{\beta\Gamma(\alpha)} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1} \left\{ \sum_{n=0}^{\infty} \frac{1}{n!} \left( -\left(\frac{x-\mu}{\beta}\right)^{\gamma} + \frac{x-\mu}{\lambda} \right)^n \right\} \exp\left\{ -\frac{x-\mu}{\lambda} \right\}$$
$$= \sum_{n=0}^{\infty} \left( -\left(\frac{x-\mu}{\beta}\right)^{\gamma} + \frac{x-\mu}{\lambda} \right)^n \frac{\gamma}{\beta\Gamma(\alpha)n!} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1} \exp\left\{ -\frac{x-\mu}{\lambda} \right\}.$$

Using the binomial expansion, it follows that

$$f(x) = \sum_{n=0}^{\infty} \sum_{k=0}^{n} {n \choose k} \left( -\left(\frac{x-\mu}{\beta}\right)^{\gamma} \right)^{n-k} \left(\frac{x-\mu}{\lambda}\right)^{k} \frac{\gamma}{\beta \Gamma(\alpha) n!} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1} \exp\left\{-\frac{x-\mu}{\lambda}\right\}$$
$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} {n \choose k} \left( -\left(\frac{1}{\beta}\right)^{\gamma} \right)^{n-k} \left(\frac{1}{\lambda}\right)^{k} \frac{\gamma}{\beta^{\alpha\gamma} \Gamma(\alpha) n!} (x-\mu)^{\gamma(n-k)+k+\alpha\gamma-1} \exp\left\{-\frac{x-\mu}{\lambda}\right\}$$
$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} {n \choose k} \left( -\left(\frac{1}{\beta}\right)^{\gamma} \right)^{n-k} \left(\frac{1}{\lambda}\right)^{k} \frac{\gamma \Gamma(\gamma(n-k)+k+\alpha\gamma)\lambda^{\gamma(n-k)+k+\alpha\gamma}}{\beta^{\alpha\gamma} \Gamma(\alpha) n!} \right)$$
$$\xrightarrow{P_{n,k}} \times f_{\Gamma(\gamma(n-k)+k+\alpha\gamma,\lambda)}(x-\mu)$$

$$=\sum_{n=0}^{\infty}\sum_{k=0}^{n}p_{n,k}f_{\Gamma(\gamma(n-k)+k+\alpha\gamma,\lambda)}(x-\mu).$$

(b) following a similar procedure to that used before, the density of X may be represented as follows

$$f_X(x) = \frac{\gamma \exp\left\{-\left(\frac{x-\mu}{\beta}\right)^{\gamma}\right\} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1}}{\beta\Gamma(\alpha)} \frac{\exp\left\{\left(\frac{x-\mu}{\beta}\right)^{\gamma} - \left(\frac{x-\mu}{\lambda}\right)^{\gamma}\right\}}{\exp\left\{\left(\frac{x-\mu}{\beta}\right)^{\gamma} - \left(\frac{x-\mu}{\lambda}\right)^{\gamma}\right\}}$$
$$= \frac{\gamma}{\beta\Gamma(\alpha)} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1} \exp\left\{-\left(\frac{x-\mu}{\beta}\right)^{\gamma} + \left(\frac{x-\mu}{\lambda}\right)^{\gamma}\right\} \exp\left\{-\left(\frac{x-\mu}{\lambda}\right)^{\gamma}\right\}$$

using the exponential expansion, it is obtained that

$$f_X(x) = \sum_{n=0}^{\infty} \frac{1}{n!} \left( -\left(\frac{x-\mu}{\beta}\right)^{\gamma} + \left(\frac{x-\mu}{\lambda}\right)^{\gamma} \right)^n \frac{\gamma}{\beta \Gamma(\alpha)} \left(\frac{x-\mu}{\beta}\right)^{\alpha\gamma-1} \exp\left\{ -\left(\frac{x-\mu}{\lambda}\right)^{\gamma} \right\}$$

Now, the expression is written in terms of mixtures of generalized gamma distributions as follows

$$f_X(x) = \sum_{n=0}^{\infty} \frac{1}{n!} \left( -\left(\frac{1}{\beta}\right)^{\gamma} + \left(\frac{1}{\lambda}\right)^{\gamma} \right)^n \frac{\gamma \lambda^{(n+\alpha)\gamma-1}}{\beta^{\alpha\gamma} \Gamma(\alpha)} \left(\frac{x-\mu}{\lambda}\right)^{(n+\alpha)\gamma-1} \exp\left\{ -\left(\frac{x-\mu}{\lambda}\right)^{\gamma} \right\},$$

which after some further simplifications may be written as follows

$$f_X(x) = \sum_{n=0}^{\infty} f_{\mathrm{NB}\left(\alpha, \left(\frac{\beta}{\lambda}\right)^{-\gamma}\right)}(n) f_{G\Gamma(n+\alpha,\lambda,\gamma,\mu)}(x).$$

Theorem 2.1 (a) shows that the density function of a generalized gamma random variable may be written as a gamma-series expansion where all the gamma distributions  $\Gamma(\gamma(n - k) + k + \alpha\gamma, \lambda)$  have the same scale parameter  $\lambda$ . This interesting representation has one limitation in that it does not correspond to a mixture of distributions, since the weights do not sum to 1. Therefore, advantage cannot be taken of mixtures properties to address further results such as the sum of independent random variables.

Concerning Theorem 2.1 (b), it is pointed out that (a) the representation in (3) shows that a generalized gamma distribution is an infinite mixture of generalized gamma distributions with weights given by the mass probability function of a negative binomial distribution; a random variable *Y* has a negative binomial distribution, denoted by  $Y \sim NB(n, p)$  with  $n \in \mathbb{R}$  and success probability *p*, if its mass probability function is given by<sup>15, Chapter 7</sup>

$$(1-p)^k p^n \binom{k+n-1}{n-1}, k \ge 0,$$

(b) note that the negative binomial distribution is still defined when the first parameter is not an integer, as it may be the case of  $\alpha$ , (c) in this representation, the value of  $\lambda$  may be chosen and thus may take different values, and (d) if one has two generalized gamma distributions, mixture representations for both distributions having the same parameter  $\lambda$  may be considered. Although not explored in this work, the notes in points (c) and (d) together with the mixtures properties may be used to obtain further results on the sum of independent generalized gamma random variables.

As already mentioned, the generalized gamma distribution has as particular cases several well-known distributions; therefore, the results in Theorem 2.1 also applies to all its particular cases. In what follows, three corollaries of Theorem 2.1 are presented, addressing the distributions considered in Section 3, for establishing the notation and to point out interesting properties that will be further explored.

**Corollary 2.2.** Let X be a random variable following a gamma distribution with shape parameter  $\alpha > 0$  and scale parameter  $\beta > 0$ , denoted by  $X \sim \Gamma(\alpha, \beta)$ , and with density function

$$f_X(x) = \frac{1}{\Gamma(\alpha)\beta^{\alpha}} x^{\alpha-1} \exp\left\{-\frac{x}{\beta}\right\}, x > 0.$$

Then, for  $\lambda > 0$  such that  $\lambda < \beta$ , the density function of X may be given by

$$f_X(x) = \sum_{n=0}^{\infty} f_{NB\left(\alpha,\frac{\lambda}{\theta}\right)}(n) f_{G\Gamma(\alpha+n,\lambda,1,0)}(x), x > 0,$$
(4)

where  $f_{NB(\alpha,\frac{\beta}{\lambda})}(.)$  is the mass probability function of a negative binomial distribution with s parameters  $\alpha$  and  $\frac{\beta}{\lambda}$ , and for a given n,  $f_{G\Gamma(\alpha+n,\lambda,1,0)}(.)$  is the density function of a generalized gamma distribution with parameters  $\alpha + n$ ,  $\lambda$ , 1 and 0.

Note that the generalized gamma distribution with parameters  $G\Gamma(\alpha + n, \lambda, 1, 0)$  it is a gamma distribution with parameters  $\Gamma(\alpha + n, \lambda)$ . The above result was used in the study of Marques<sup>3</sup> to address the sum of independent gamma random variables without noticing that the weights corresponded to that of the mass probability function of a negative binomial distribution. The importance of this result, as already mentioned in the introduction, is that if more than one gamma random variable is observed, mixture representations may be considered, for all of the variables, where the gamma distributions in the mixtures have the same scale parameter  $\lambda$ .

**Corollary 2.3.** Let X be a random variable following a Rayleigh distribution with parameter  $\sigma > 0$ , denoted by  $X \sim Rayleigh(\sigma)$ , and with density function

$$f_X(x) = \frac{x \exp\left\{-\frac{x^2}{2\sigma^2}\right\}}{\sigma^2}, \quad x > 0$$

Then, for  $\lambda > 0$  such that  $\lambda < \sqrt{2\sigma}$  the density function of X may be given by

$$f_X(x) = \sum_{n=0}^{\infty} f_{Geo\left(\left(\frac{\lambda}{\sqrt{2\sigma}}\right)^2\right)}(n) f_{G\Gamma(n+1,\lambda,2,0)}(x), x > 0,$$
(5)

where  $f_{Geo}\left(\left(\frac{\lambda}{\sqrt{2}\sigma}\right)^2\right)$  (.) is the mass probability function of a Geometric distribution with parameter  $\left(\frac{\lambda}{\sqrt{2}\sigma}\right)^2$  and, for a given  $n, f_{G\Gamma(n+1,\lambda,2,0)}(.)$  is the density function of a generalized gamma distribution with parameters  $n + 1, \lambda, 2, 0$ . Finally, the Weibull distribution is considered.

**Corollary 2.4.** Let *X* be a random variable following a Weibull distribution with parameters  $\alpha > 0$  and  $\beta > 0$ , denoted by  $X \sim$  Weibull( $\alpha, \beta$ ), and with density function

$$f_X(x) = \frac{\alpha \exp\left\{-\left(\frac{x}{\beta}\right)^{\alpha}\right\} \left(\frac{x}{\beta}\right)^{\alpha-1}}{\beta}, x > 0.$$

Then, for  $\lambda > 0$  such that  $\lambda < \beta$  the density function of *X* may be given by

$$f_X(x) = \sum_{n=0}^{\infty} f_{Geo}\left(\left(\frac{\beta}{\lambda}\right)^{-\gamma}\right)(n) f_{G\Gamma(n+1,\lambda,\gamma,0)}(x), x > 0,$$
(6)

where  $f_{Geo}(\left(\frac{\beta}{\lambda}\right)^{-\gamma})$  (.) is the mass probability function of a geometric distribution with parameter  $\left(\frac{\beta}{\lambda}\right)^{-\gamma}$ , and for a given  $n, f_{G\Gamma(n+1,\lambda,\gamma,0)}(.)$  is the density function of a generalized gamma distribution with parameters  $n + 1, \lambda, \gamma, 0$ .

In the particular cases considered in Corollaries 2.2, 2.3, and 2.4, the shifted version of the positive distributions can also be considered.

Clearly, other particular cases may be addressed; for other examples see the studies of Coelho and Arnold, Crooks, and Yacoub.<sup>6,11,16</sup>

#### 3. Application to the Sum of Independent Random Variables

The general representation of several distributions in terms of mixtures of generalized gamma distributions suggests that this kind of representation may be an efficient tool to approximate the distribution of sums or linear combinations of positive variables. As examples, in the next subsections, the sum of independent Rayleigh variables, the sum of independent gamma random variables, and the sum of independent Weibull random variables (not necessarily identically distributed) are considered. Thus, for all cases considered and motivated by the previous results, approximations for the sum of the independent random variables addressed in Subsections 3.1 to 3.3 are considered as mixtures of generalized gamma distributions. More precisely, consider  $X_1, \ldots, X_p$  independent random variables; a mixture of gamma distributions are proposed for approximating the distribution of  $Z = \sum_{i=1}^{p} X_i$ , with  $X_i$  being independent distributed as in Subsections 3.1 to 3.3 and not necessarily identically distributed. The corresponding approximating density and cumulative distribution functions are defined respectively by

$$f_{\tilde{Z}}(x) = \sum_{n=0}^{m} \pi_n f_{G\Gamma(\alpha + \frac{n}{\ell}, \beta, \gamma, 0)}(x)$$
(7)

and

$$F_{\tilde{Z}}(x) = \sum_{n=0}^{m} \pi_n F_{G\Gamma(\alpha + \frac{n}{\ell}, \beta, \gamma, 0)}(x),$$
(8)

where  $\tilde{Z}$  is a random variable with the distribution corresponding to density and cumulative distribution functions in (7) and (8),  $\pi_n$  are the weights, and  $f_{G\Gamma(\alpha+\frac{n}{\ell},\beta,\gamma,0)}(.)$  and  $F_{G\Gamma(\alpha+\frac{n}{\ell},\beta,\gamma,0)}(.)$  are the probability density and cumulative distribution functions of a generalized gamma distribution with parameters  $\alpha + n/\ell$ ,  $\beta$ ,  $\gamma$ , and 0. The parameter  $\ell$  is a tuning parameter that may help to improve the precision of this approximation, and *m* is the number of exact moments matched by the approximating distribution. The parameters and weights in (7) and (8) will be determined using the following algorithm:



Using this procedure, it is possible to control the precision of the approximation by increasing or decreasing the value of *m* or by adjusting the tuning parameter  $\ell$ .

In order to implement this procedure, the first *m* exact moments need to be determined. When the characteristic function of each  $X_i$  is known, this will be achieved computationally and numerically using the characteristic function of *Z* which is

$$\Phi_Z(t) = \prod_{i=1}^p \Phi_{X_i}(t)$$

by

$$E(Z^h) = \mathrm{i}^{-h} \left. \frac{\partial^h \Phi_Z(t)}{\partial t^h} \right|_{t=0}.$$

When the characteristic function of  $X_i$ , i = 1, ..., p, does not have an explicit expression, if the random variable has moments of any order, the following representation for  $\Phi_{X_i}$  may always be considered:

$$\Phi_{X_i}(t) = \sum_{n=0}^{\infty} \frac{(\mathrm{i}t)^n}{n!} E(X_i^n).$$

However, using this expression, the characteristic function of *Z* is obtained as products of infinite sums, which is difficult to use in practice. Therefore, when the use of characteristic functions is not possible, the exact moments may be determined using the multinomial expansion, through the following expression:

$$E(Z^{h}) = \sum_{h_{1}=0}^{h} \sum_{h_{2}=0}^{h_{1}} \cdots \sum_{h_{p-1}=0}^{h_{p-2}} {\binom{h}{h_{1}}\binom{h_{1}}{h_{2}}\cdots\binom{h_{p-2}}{h_{p-1}}} E\left(X_{1}^{h-h_{1}}\right) E\left(X_{2}^{h_{1}-h_{2}}\right) \cdots E\left(X_{p}^{h_{p-1}}\right).$$
(9)

In order to apply a matching moments technique, the first *m* moments of the approximating distribution are also required. The *h*-th moment of a random variable with a generalized gamma distribution with parameters  $\alpha + n/\ell$ ,  $\beta$ ,  $\gamma$ , and 0, denoted by  $G\Gamma(\alpha + \frac{n}{\ell}, \beta, \gamma, 0)$ , is given by

$$\frac{\beta^{h}\Gamma\left(\alpha+\frac{n}{\ell}+\frac{h}{\gamma}\right)}{\Gamma\left(\alpha+\frac{n}{\ell}\right)}$$

thus, using the mixtures properties, the *h*th moment of the  $\tilde{Z}$  is

$$E\left(\tilde{Z}^{h}\right) = \sum_{n=0}^{m} \pi_{n} \frac{\beta^{h} \Gamma\left(\alpha + \frac{n}{\ell} + \frac{h}{\gamma}\right)}{\Gamma\left(\alpha + \frac{n}{\ell}\right)}$$

Then, for Step 1, the values of  $\alpha$ ,  $\beta$ , and  $\gamma$  are determined as solutions of the system of equations

$$\left. i^{-h} \frac{\partial^{h} \Phi_{Z}(t)}{\partial t^{h}} \right|_{t=0} = \frac{\beta^{h} \Gamma\left(\alpha + \frac{h}{\gamma}\right)}{\Gamma(\alpha)} \quad , \text{ for } h = 1, 2, 3.$$

$$(10)$$

For a starting value of  $\ell$ , fixed values of  $\alpha$ ,  $\beta$ , and  $\gamma$  and for a given integer *m*, the first *m* weights in the mixture are determined as solutions of the system of equations

$$\left. \mathrm{i}^{-h} \frac{\partial^{h} \Phi_{Z}(t)}{\partial t^{h}} \right|_{t=0} = \sum_{n=0}^{m} \pi_{n} \frac{\beta^{h} \Gamma\left(\alpha + \frac{n}{\ell} + \frac{h}{\gamma}\right)}{\Gamma\left(\alpha + \frac{n}{\ell}\right)} \quad , \text{ for } h = 1, \cdots, m,$$

$$(11)$$

the last weight being equal to

$$\pi_m = 1 - \sum_{n=0}^{m-1} \pi_n$$

Note that, although the system of equations in (11) (used to address Step 2.) is easily solved, for obtaining the solutions of the system of equations in (10) (used for solving Step 1.), initial values may have to be provided for  $\alpha$ ,  $\beta$ , and  $\gamma$ . If these choices are inadequate, the process may take some time to converge, or the solution may not make sense, in the sense that, for example, negative values for the parameters are returned. Thus, the initial values may be chosen by following some prior knowledge of the distribution or by chance attempts. In more complex scenarios, a small simulation experiment may be performed where the starting values are defined as those values that result in a better fit of the generalized gamma distribution to the simulated data. This point will be also addressed in the discussion section.

In the next subsections, the computations were done using software Mathematica 10.0.

### 3.1. Sums of independent Rayleigh random variables

As a first example, the sum of independent Rayleigh random variables is addressed. This distribution is widely applied in problems relating to wireless communications as pointed out in the studies of Divsalar and Simon, Hu and Beaulieu, Nadarajah, and Marcum.<sup>17-20</sup> In the studies of Hu and Beaulieu and Nadarajah,<sup>18,19</sup> it is stated that there is no close-form

expression for the exact distribution of the sum of independent Rayleigh random variables. In the study of Hitczenko,<sup>21</sup> upper bounds on the tail probability were established for the linear combination of Rayleigh distributions, and in the study of Karagiannidis et al,<sup>22</sup> using the Meijer G-function,<sup>23</sup> an upper bound for the cumulative distribution function was obtained. In the study of Hu and Beaulieu,<sup>18</sup> closed-form approximations were developed for the sum of independent Rayleigh random variables when these are normalized, that is transformed into Rayleigh random variables with parameters  $\sigma = 1$ . In this subsection, a more general setting with no restrictions on the parameters is considered.

Consider *p* independent Rayleigh random variables,  $X_i \sim \text{Rayleigh}(\sigma_i)$ , i = 1, ..., p. The interest is in the distribution of

$$Z = \sum_{i=1}^{p} X_i.$$

Clearly, since  $\delta_i X_i \sim \text{Rayleigh}(\delta_i \sigma_i)$ , for  $\delta_i > 0$  and i = 1, ..., p, the linear combination of independent Rayleigh random variables reduces to the sum of  $Y_i = \delta_i X_i \sim \text{Rayleigh}(\delta_i \sigma_i)$ ,  $\delta_i > 0$ , i = 1, ..., p.

The characteristic function of  $X_i$  is known and given by

$$\Phi_{X_i}(t) = 1 + \sqrt{\frac{\pi}{2}} \sigma_i t \exp\left\{-\frac{1}{2}\sigma_i^2 t^2\right\} \left(-\operatorname{Erfi}\left(\frac{\sigma_i t}{\sqrt{2}}\right) + i\right), t \in \mathbb{R},$$

with  $i = \sqrt{-1}$ , and where Erfi(.) is the imaginary error function. Thus, the characteristic function of  $Z = \sum_{i=1}^{p} X_i$  is given by

$$\Phi_{Z}(t) = \prod_{i=1}^{p} \Phi_{X_{i}}(t) = \prod_{i=1}^{p} \left\{ 1 + \sqrt{\frac{\pi}{2}} \sigma_{i} t \exp\left\{-\frac{1}{2}\sigma_{i}^{2} t^{2}\right\} \left(-\operatorname{Erfi}\left(\frac{\sigma_{i} t}{\sqrt{2}}\right) + \mathrm{i}\right) \right\}, t \in \mathbb{R}.$$
(12)

As already mentioned, using this expression, the *h*-th moment of *Z* may be obtained computationally and numerically by

$$E(Z^{h}) = i^{-h} \left. \frac{\partial^{h} \Phi_{Z}(t)}{\partial t^{h}} \right|_{t=0}$$

Following the three steps highlighted in the beginning of Section 3, approximations for the cumulative distribution or density functions of the sum of independent Rayleigh random variables are obtained as mixtures of generalized gamma distributions.

For illustrating the performance of the proposed approximation, four scenarios are considered:

Scenario 1:  $\sigma = \left\{2, \frac{1}{3}\right\};$ Scenario 2:  $\sigma = \left\{2, \frac{1}{3}, \frac{17}{4}\right\};$ Scenario 3:  $\sigma = \{3, 3, 3, 3\};$ Scenario 4:  $\sigma = \left\{2, 3, \frac{1}{3}, \frac{5}{4}, 10\right\}.$ 

In Tables 1 to 4, the approximating cumulative distribution function in (8) has been computed for the exact quantiles  $q_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$ . In all scenarios considered, the tuning parameter  $\ell$  was set equal to 2. The exact quantiles were determined using the bisection method with the numerical inversion of  $\Phi_Z$  in (12) obtained using the inversion formulas in the study of Gil-Pelaez.<sup>24</sup> However, note that the proposed approximations are simple mixtures of

**Table 1.** Scenario 1—computed values of the approximating c umulative distribution i n ( 8) f or the exact quantiles  $q_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  f or  $\alpha = 1.637, \beta = 2.376, \gamma = 1.759$ , and  $\ell = 2$ 

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	$q_{0.95}$
2	0.0521	0.0995	0.4984	0.9014	0.9504
4	0.0504	0.0981	0.5011	0.8997	0.9492
6	0.0493	0.0987	0.5009	0.8998	0.9502
8	0.0498	0.0997	0.4999	0.9001	0.9500
10	0.0499	0.0998	0.4999	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

generalized gamma distributions and as such easy to use in practice, avoiding this way the use of other procedures such as the one already described, or the use of simulations.

Results in Tables 1 to 4 suggest approximations with a high degree of precision. This precision improves with the number of moments matched. Note the high degree of precision revealed in Table 3 for Scenario 3; in this case, all the variables are independent and identically distributed. In Figure 1, plots of the probability density function of *Z* (solid line) and of the approximating density function (dashed line) are presented for (a) Scenario 1 and m = 4, (b) Scenario 2 and m = 2, (c) Scenario 3 and m = 2, and (4) Scenario 4 and m = 4.

As an example of application, in the study of Hu and Beaulieu,<sup>18</sup> the authors mentioned that "In several practical wireless communication applications, there is a need for the accurate computation of the cumulative distribution function (CDF) and the probability density function (PDF) of the sum of *L* statistically independent Rayleigh random variables (RV's)." and also that "such sums occur in the measurement of signal-to-noise ratio for handoff and in the evaluation of equal gain combining systems when determining the error probability or the outage probability." For *L* statistical independent Rayleigh random variables,  $R_i$ , i = 1, ..., L, with  $R_i \sim \text{Rayleigh}(\sigma_i)$ , the authors first considered the transformation  $Y_i = R_i/\sigma_i$ , i = 1, ..., L, which gives the normalized random variables,  $Y_i \sim \text{Rayleigh}(1)$ , but then, they considered the

**Table 2.** Scenario 2—computed values of the approximating c umulative distribution i n (8) f or the e xact quantiles  $q_{\delta}$  with  $\delta$  =0.05, 0.1, 0.5, 0.90, 0.95 f or  $\alpha$  =2.580,  $\beta$  =4.926,  $\gamma$  =1.687, and  $\ell$  =2

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	$q_{0.95}$
2	0.0511	0.0999	0.4985	0.9012	0.9504
4	0.0500	0.0993	0.5005	0.8999	0.9496
6	0.0499	0.0999	0.5001	0.9000	0.9500
8	0.0500	0.1000	0.5000	0.9000	0.9500
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

**Table 3.** Scenario 3—computed values of the approximating c umulative distribution i n ( 8) f or the exact quantiles  $q_{\delta}$  with  $\delta$  =0.05, 0.1, 0.5, 0.90, 0.95 f or  $\alpha$  =4.426,  $\beta$  =6.884,  $\gamma$  =1.838, and  $\ell$  =2

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	<b>q</b> <sub>0.95</sub>
2	0.0500	0.1000	0.5000	0.9000	0.9500
4	0.0500	0.1000	0.5000	0.9000	0.9500
6	0.0500	0.1000	0.5000	0.9000	0.9500
8	0.0500	0.1000	0.5000	0.9000	0.9500
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

**Table 4.** Scenario 4—computed values of the approximating c umulative distribution i n (8) f or the exact quantiles  $q_{\delta}$  with  $\delta$  =0.05, 0.1, 0.5, 0.90, 0.95 f or  $\alpha$  =4.266,  $\beta$  =7.785,  $\gamma$  =1.441, and  $\ell$  =2

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	$q_{0.95}$
2	0.0522	0.0994	0.4974	0.9023	0.9508
4	0.0502	0.0987	0.5008	0.8999	0.9493
6	0.0503	0.0999	0.5002	0.8999	0.9500
8	0.0500	0.0998	0.5003	0.9000	0.9501
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500



**Figure 1.** Plots of the probability density function of *Z* (solid line) and of the approximating density function (dashed line) for A, Scenario 1 and m = 4, B, Scenario II and m = 2, C, Scenario 3 and m = 2, and D, Scenario 4 and m = 4 [Colour figure can be viewed at wileyonlinelibrary.com]



**Figure 2.** Plots of the approximating probability density A, and cumulative distribution B, functions of Z for L = 3 (dashed line), L = 8 (dotted line), and L = 16 (solid line) [Colour figure can be viewed at wileyonlinelibrary.com]

random variables  $X_i = Y_i / \sqrt{L}$  with distribution  $X_i \sim \text{Rayleigh}(1/\sqrt{L})$ . Thus, the study focused on the distribution of the sum of *L* independent and identically distributed Rayleigh random variables

$$Z = \sum_{i=1}^{L} X_i.$$

The independent and identically distributed case can be easily addressed using the approach proposed in this work, and the high precision of the approximations have already been observed in Table 3. In Figure 2, the approximating density and cumulative distribution functions of *Z* are presented when L = 3, 8, 16. Note that the cases L = 3 and L = 16 were also considered in the study of Hu and Beaulieu.<sup>18</sup> In all cases,  $\ell = 1$  and m = 2 were considered. The empirical density function is not presented because it would be indistinguishable.

#### 3.2. Sums of independent gamma random variables

Following the procedure described in the beginning of this section, as a second example, the sum of independent gamma random variables will be addressed. The following results may also be applied to the linear combination of gamma random variables since, for a positive  $\delta$ , if  $X \sim \Gamma(\alpha, \beta)$  then  $\delta X \sim \Gamma(\alpha, \delta \beta)$ . There are several results available in the literature for the sum of independent gamma random variables, of which, only the most relevant are mentioned. A first result,

for the sum of independent exponential random variables, is given in exercises 12 and 13 of the study of Feller.<sup>25</sup> In the study of Amari and Misra<sup>26</sup> and also in the study of Coelho,<sup>27</sup> the authors developed results for the sum of integer gamma random variables. The most interesting result is given in the study of Moschopoulos,<sup>28</sup> for the general case, where using an inversion of the moment generating function, it is shown that the sum of independent gamma random variables may be represented as an infinite mixture of gamma distributions, all with the same rate parameter. The practical use of this result may be limited by the fact that it is an infinite mixture representation. Interestingly, the same result may be obtained using the procedure described in the study of Marques.<sup>3</sup> A new approximation for the distribution of the sum of independent gamma random variables is proposed. Consider *p* independent gamma random variables,  $X_i \sim \Gamma(\alpha_i, \beta_i), i = 1, ..., p$ . The interest is in the distribution of

$$Z = \sum_{i=1}^{p} X_i.$$

The characteristic function the  $X_i$  is given by

$$\Phi_{X_i}(t) = (1 - \mathrm{i}\beta_i t)^{-\alpha_i}, t \in \mathbb{R}.$$

Thus, the characteristic function of Z is given by

$$\Phi_{Z}(t) = \prod_{i=1}^{p} \Phi_{X_{i}}(t) = \prod_{i=1}^{p} (1 - i\beta_{i}t)^{-\alpha_{i}}, t \in \mathbb{R}.$$
(13)

Since the expression of the characteristic function is known, the hth moment of Z may be obtained as in the previous subsection as follows

$$E(Z^{h}) = \mathrm{i}^{-h} \left. \frac{\partial^{h} \Phi_{Z}(t)}{\partial t^{h}} \right|_{t=0}$$

For the case of the sum of independent gamma random variables, the following four scenarios are considered:

Scenario 1: 
$$\alpha = \left\{2, \frac{1}{3}\right\}$$
 and  $\beta = \{3, 10\}$ ;  
Scenario 2:  $\alpha = \left\{2, \frac{1}{3}, 10\right\}$  and  $\beta = \left\{\frac{1}{3}, 4, \frac{5}{4}\right\}$ ;  
Scenario 3:  $\alpha = \{3, 3, 3, 3\}$  and  $\beta = \left\{\frac{1}{2}, 5, 8, \frac{5}{4}\right\}$ 

**Table 5.** Scenario 1—computed values of the approximating c umulative distribution i n (8) f or the e xact quantiles  $q_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  f or  $\alpha = 10.362, \beta = 0.0312, \gamma = 0.4212$ , and  $\ell = 1$ 

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	<b>q</b> <sub>0.95</sub>
2	0.0413	0.0929	0.5070	0.8978	0.9487
4	0.0414	0.0929	0.5069	0.8978	0.9487
6	0.0477	0.0989	0.5019	0.8992	0.9498
8	0.0512	0.1010	0.4997	0.8999	0.9499
10	0.0507	0.1010	0.4997	0.9000	0.9499
15	0.0505	0.1007	0.4998	0.9000	0.9500

**Table 6.** Scenario 2—computed values of the approximating c umulative distribution i n (8) f or the exact quantiles  $q_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  f or  $\alpha = 17.406, \beta = 0.3525, \gamma = 0.7721$ , and  $\ell = 1/2$ 

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	$q_{0.95}$
2	0.0517	0.1026	0.4996	0.8975	0.9491
4	0.0502	0.1003	0.4995	0.9003	0.9504
6	0.0501	0.1001	0.4998	0.9001	0.9500
8	0.0501	0.1001	0.4999	0.9000	0.9499
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

**Table 7.** Scenario 3 — computed values of the approximating c umulative distribution i n ( 8) f or the exact quantiles  $q_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  f or  $\alpha = 13.786, \beta = 1.1576, \gamma = 0.7238$ , and  $\ell = 2$ 

т	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	<b>q</b> <sub>0.95</sub>
2	0.0505	0.1001	0.4994	0.9004	0.9502
4	0.0500	0.0998	0.5000	0.9000	0.9500
6	0.0500	0.1000	0.5000	0.9000	0.9500
8	0.0500	0.1000	0.5000	0.9000	0.9500
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

Table 8. Scenario 4—computed values of the approximating c umulative distribution i n ( 8) f or the e xact quantiles  $q_{\delta}$  with  $\delta$  =0.05, 0.1, 0.5, 0.90, 0.95 f or  $\alpha$  =1 3.154,  $\beta$  =1.9591,  $\gamma$  =0.8765, and  $\ell$  =1

m	$q_{0.05}$	$q_{0.1}$	$q_{0.5}$	$q_{0.90}$	$q_{0.95}$
2	0.0500	0.1000	0.5000	0.9000	0.9500
4	0.0500	0.1000	0.5000	0.9000	0.9500
6	0.0500	0.1000	0.5000	0.9000	0.9500
8	0.0500	0.1000	0.5000	0.9000	0.9500
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

Scenario 4:  $\boldsymbol{\alpha} = \left\{\frac{1}{2}, 3, \frac{4}{5}, 6, \frac{7}{8}\right\}$  and  $\boldsymbol{\beta} = \{1, 2, 3, 4, 5\}.$ 

In Tables 5 to 8, the values of the approximating cumulative distribution function in (8) have been computed for the exact quantiles  $q_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$ . Similar to the previous subsection, the exact quantiles values were obtained through numerical inversion of  $\Phi_Z$  in (13) using the inversion formulas in the study of Gil-Pelaez<sup>24</sup> and the bisection method.

From Tables 5 to 8, the high precision of these approximations is observed, which improves as the number of moments matched is increased. In Figure 3, plots of the probability density function of *Z* (solid line) and of the approximating density function (dashed line) are presented for (a) Scenario 1, m = 6 and  $\ell = 1$ , (b) Scenario 2, m = 2 and  $\ell = 1/2$ , (c) Scenario 3, m = 2 and  $\ell = 2$ , and (d) Scenario 4, m = 2 and  $\ell = 1$ .

In the study of Ansari et al,<sup>29</sup> the authors considered an application of the sum of independent gamma random variables to the performance analysis of diversity combining receivers operating over Nakagami- $m^*$  fading channels. The authors refer that in a Nakagami multipath fading channel,  $\gamma^* = |\alpha^*|^2$  follows a gamma distribution; see the study of Ansari et al<sup>29</sup> for details. More precisely, the density of  $\gamma^*$  is given by

$$p_{\gamma^*}(x) = \left(\frac{m^*}{\Omega}\right)^{m^*} \frac{x^{m^*-1}}{\Gamma(m^*)} \exp\left\{-\frac{m^*}{\Omega}x\right\},\,$$

where  $m^* > 0$  is the Nakagami- $m^*$  multipath fading parameter and  $\Omega > 0$  is the mean of the local power. Using the notation established in Corollary 2.2,  $\gamma^* \sim \Gamma(m^*, \Omega/m^*)$ . The authors developed representations in terms of Meijer-G and on the Fox H-functions, for the density and cumulative distribution functions of

$$Z = \sum_{i=1}^{L} \gamma_i^*,$$

with  $\gamma_i^* \sim \Gamma(m_i^*, \Omega_i/m_i^*)$ , independent but not necessarily identical. In Figure 4, the scenarios in figure 1 of the study of Ansari et al<sup>29</sup> are considered, and the plots for the approximating density and cumulative distribution functions of *Z* are presented, for m = 6 and  $\ell = 1$ , when

(a) 
$$\boldsymbol{m}^* = \{0.6, 1.1, 2\}$$
 and  $\Omega = \{1, 1, 1\}$ ;



**Figure 3.** Plots of the smooth empirical probability density function of *Z* (solid line) evaluated from 10 000 000 simulated values of *Z*, a n d of the approximating density function (dashed line) for A, Scenario 1, m = 2 a n d  $\ell = 3$  B, Scenario 2, m = 2 a n d  $\ell = 3$ , C, Scenario 3, m = 6 a n d  $\ell = 3$ , and D, Scenario 4, m = 2 a n d  $\ell = 3$  [Colour figure can be viewed at wileyonlinelibrary.com]



**Figure 4.** Plots of the approximating probability density A, and cumulative distribution B, functions of *Z* for scenarios (a) dotted line, (b) dashed line, and (c) solid line [Colour figure can be viewed at wileyonlinelibrary.com]

- (b)  $\boldsymbol{m}^* = \{0.6, 1.1, 2, 3.4\}$  and  $\Omega = \{1, 1, 1, 1\};$
- (c)  $\boldsymbol{m}^* = \{0.6, 1.1, 2, 3.4, 4.5\}$  and  $\Omega = \{1, 1, 1, 1, 1\}$ .

### 3.3. Sum of independent Weibull random variables

The last case considered is that of the sum of independent Weibull random variables. The distribution of this sum is very important, for example, in problems related to wireless communications.<sup>30,31</sup> The Weibull distribution is also a particular case of the well-known generalized extreme value distribution, which also include the Gumbel and Fréchet distributions. Thus, the distribution of the sum of independent Weibull random variables is also relevant for problems related to extremes. Finding an exact representation or approximation for the distribution of the sum of independent Weibull random variables is a difficult problem; for example, in the study of Nadarajah,<sup>19</sup> it is stated that "Unfortunately, no results (not even approximations) have been known for sums of Weibull random variables. It is expected that this review could help to motivate some work for this case." Recently, in the study of Filho and Yacoub,<sup>30</sup> approximations were developed for the independent and identically distributed case. For the nonidentically distributed case, in the study of Yilmaz and Alouini,<sup>31</sup> the authors give an infinite series representation that does not naturally lead to a straight forward implementation. For the sum of independent Weibull random variables, it is proposed that the approximating cumulative and density functions in (8) and (7) are obtained using the procedure described in Steps 1 to 3 at the beginning of this section. Consider

p independent Weibull random variables,  $X_i \sim \text{Weibull}(\alpha_i, \beta_i), i = 1, \dots, p$  and the random variable

$$Z = \sum_{i=1}^{p} X_i.$$

The characteristic function of a Weibull random variable has no closed-form expression; thus, the exact moments can not be determined as in the previous subsections. Therefore, the exact moments for the sum of independent Weibull random variables are determined using expression (9). This expression was also used in the study of Filho and Yacoub.<sup>30</sup>

For illustrating the performance of the proposed approximation, four scenarios are considered:

Scenario 1: 
$$\alpha = \{2, 3\}$$
 and  $\beta = \left\{\frac{4}{5}, 6\right\}$ ;  
Scenario 2:  $\alpha = \{6, 4, 2\}$  and  $\beta = \{1, 3, 5\}$ ;  
Scenario 3:  $\alpha = \left\{\frac{2}{3}, \frac{2}{3}, \frac{2}{3}, \frac{2}{3}\right\}$  and  $\beta = \{1, 1, 1, 1\}$ ;  
Scenario 4:  $\alpha = \left\{\frac{18}{3}, \frac{12}{7}, 4, \frac{8}{3}, \frac{31}{3}\right\}$  and  $\beta = \left\{\frac{1}{5}, \frac{2}{3}, 10, \frac{7}{5}, \frac{20}{8}\right\}$ .

For the sum of independent Weibull random variables, it was not possible to plot the exact probability density function nor to determine its exact quantiles. Therefore, 10 000 000 values of *Z* were simulated, and the corresponding smooth empirical density of *Z* plotted. The simulated data was also used to calculate the empirical quantiles  $\tilde{q}_{\delta}$ with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$ . Thus, in Tables 9 to 12, the values of the approximating cumulative distribution function in (8) were computed for the empirical quantiles  $\tilde{q}_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$ . Note that the results in Tables 9 to 12, are obtained using the empirical quantiles and therefore may not be accurate to a high degree since the empirical quantiles may only have two or three decimal places equal to the exact ones.

In Tables 9 to 12, the same features are observed as that already described in the previous subsections for the sum of independent Rayleigh random variables and for the sum of independent gamma random variables. However, note that (a) the approximating cumulative distribution function is evaluated in the empirical quantiles obtained from 10 000 000 simulated values of Z, which may have only two or three exact decimal places and (b) there are cases where this approximation may not give very accurate results; these cases may be easily identified as the cases where it may be difficult to complete Step 1 and solve the consequent system of equations in (10).

Table 9.	Scenario 1—computed values of the approximating cumulative distribution in (8) for the empirical quantiles $\tilde{q}_{\delta}$ with $\delta$ = 0.05, 0.1
0.5, 0.90,	0.95 for $\alpha = 1.3342$ , $\beta = 5.9760$ , $\gamma = 2.8263$ , and $\ell = 3$

т	$\widetilde{q}_{0.05}$	$\boldsymbol{\tilde{q}}_{0.1}$	$\tilde{\mathbf{q}}_{0.5}$	<b>q</b> <sub>0.90</sub>	$\mathbf{\tilde{q}}_{0.95}$
2	0.0500	0.0988	0.5003	0.9005	0.9499
4	0.0494	0.0990	0.5011	0.8994	0.9496
6	0.0498	0.1000	0.4998	0.9002	0.9501
8	0.0500	0.1000	0.5000	0.9000	0.9500
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

**Table 10.** Scenario 2—computed values of the approximating cumulative distribution in (8) for the empirical quantiles  $\tilde{q}_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  for  $\alpha = 3.2860, \beta = 0.2906, \gamma = 1.8545$ , and  $\ell = 1$ 

т	$\mathbf{\tilde{q}}_{0.05}$	$\mathbf{\tilde{q}}_{0.1}$	$\mathbf{\tilde{q}}_{0.5}$	<b>q</b> <sub>0.90</sub>	<b>q</b> <sub>0.95</sub>
2	0.0517	0.1026	0.4996	0.8975	0.9491
4	0.0502	0.1003	0.4995	0.9003	0.9504
6	0.0501	0.1001	0.4998	0.9001	0.9500
8	0.0501	0.1001	0.4999	0.9000	0.9499
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

WILEY 5731

**Table 11.** Scenario 3—computed values of the approximating c umulative distribution i n (8) f or the empirical quantiles  $\tilde{q}_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  f or  $\alpha = 13.786, \beta = 1.1576, \gamma = 0.7238$ , and  $\ell = 2$ 

m	$\widetilde{q}_{0.05}$	$\boldsymbol{\tilde{q}}_{0.1}$	${\bf \tilde{q}}_{0.5}$	$\mathbf{\tilde{q}}_{0.90}$	$\mathbf{\tilde{q}}_{0.95}$
2	0.0505	0.1001	0.4994	0.9004	0.9502
4	0.0500	0.0998	0.5000	0.9000	0.9500
6	0.0500	0.1000	0.5000	0.9000	0.9500
8	0.0500	0.1000	0.5000	0.9000	0.9500
10	0.0500	0.1000	0.5000	0.9000	0.9500
15	0.0500	0.1000	0.5000	0.9000	0.9500

**Table 12.** Scenario 4—computed values of the approximating c umulative distribution i n (8) f or the empirical quantiles  $\tilde{q}_{\delta}$  with  $\delta = 0.05, 0.1, 0.5, 0.90, 0.95$  f or  $\alpha = 2.1785, \beta = 11.414, \gamma = 3.6669$ , and  $\ell = 3$ 

m	$ ilde{\mathbf{q}}_{0.05}$	$\mathbf{\tilde{q}}_{0.1}$	$\mathbf{\tilde{q}}_{0.5}$	<b>q</b> <sub>0.90</sub>	$ ilde{\mathbf{q}}_{0.95}$
2	0.0489	0.0971	0.5018	0.9005	0.9494
4	0.0487	0.0985	0.5019	0.8986	0.9491
6	0.0498	0.0999	0.4997	0.9000	0.9501
8	0.0499	0.1002	0.4994	0.9001	0.9499
10	0.0500	0.1001	0.4999	0.8999	0.9500
15	0.0500	0.1000	0.4999	0.8999	0.9500

In Figure 5, plots of the smooth empirical probability density function of *Z* (solid line) are presented, evaluated from 10 000 000 simulated values of *Z* and of the approximating density function (dashed line) for (a) Scenario 1, m = 2,  $\ell = 3$  (b) Scenario 2, m = 2 and  $\ell = 3$ , (c) Scenario 3, m = 6 and  $\ell = 3$ , and (d) Scenario 4, m = 2 and  $\ell = 3$ .

Although the presented figures may intuit less precision of approximations for  $q_{0.5}$  or  $\tilde{q}_{0.5}$  quantiles, the results in the tables show that the differences on the precision of the approximations do not seem to be substantial.

As an illustration of the applicability of the results provided, we consider the application in the study of Yilmaz and Alouini.<sup>31</sup> In this work, the authors mentioned that "Sum of Weibull random variables (RVs) is naturally of prime importance in wireless communications and related areas." In the study of Yilmaz and Alouini,<sup>31</sup> the Weibull distribution was used to describe the amplitude of the received power from a wireless channel. More precisely, the authors define that a random variable  $P_l$  is a channel power Weibull random variable if its density is given by

$$f_{P_l}(x) = \xi_l \left(\frac{\theta_l}{\Omega_l}\right)^{\xi_l} x^{\xi_l - 1} \exp\left\{-\left(\frac{\theta_l}{\Omega_l}x\right)^{\xi}\right\},\,$$

for  $x \ge 0$ , where  $\Omega_l > 0$ ,  $\xi_l \ge 1$  are designated as the average power and the shape parameters respectively, and where  $\theta_l = \Gamma(1 + 1/2\xi_l)$  is designated as the power exponent coefficient.<sup>31</sup> Using the notation established in Corollary 2.4, it follows that

$$P_l \sim \text{Weibull}\left(\xi_l, \frac{\Omega_l}{\theta_l}\right).$$

As already mentioned, in Yilmaz and Alouini,<sup>31</sup> the results presented for the sum of independent Weibull random variables

$$Z = \sum_{l=1}^{L} P_l$$

are based on infinite series involving hypergeometric functions that may not be easy to use. As an illustration, the same scenarios as in figure 2 of the study of Yilmaz and Alouini<sup>31</sup> are considered, with the exception of case  $\Omega = 1$  and  $\xi = 1$ , which only considers one single Weibull random variable. Thus, in Figure 6, for the following scenarios

a. 
$$\Omega = \{1, 1\}$$
 and  $\xi = \{1, 2\}$ ,



**Figure 5.** Plots of the probability density function of *Z* (solid line) and of the approximating density function (dashed line) for A, Scenario 1, m = 6 a n d  $\ell = 1$  B, Scenario 2, m = 2 a n d  $\ell = 1/2$ , C, Scenario 3, m = 2 a n d  $\ell = 2$ , and D, Scenario 4, m = 2 a n d  $\ell = 1$  [Colour figure can be viewed at wileyonlinelibrary.com]



**Figure 6.** Plots of the approximating probability density A, and cumulative distribution B, functions of *Z* for scenarios (a) dotted line, (b) dashed line, and (c) solid line [Colour figure can be viewed at wileyonlinelibrary.com]

b.  $\Omega = \{1, 1, 1\}$  and  $\xi = \{1, 2, 3\}$ , c.  $\Omega = \{1, 1, 1, 1\}$  and  $\xi = \{1, 2, 3, 4\}$ ,

the plots of the approximating density and cumulative distribution functions are presented, when m = 6 and  $\ell = 1$ .

## 4. Discussion and Conclusions

It is shown that a generalized gamma distribution may be represented (a) as a gamma-series expansion where all the gamma distributions in the series have the same scale parameter and (b) as a mixture of generalized gamma distributions. These results provide interesting insights about the distribution of a generalized gamma distribution and of its particular cases. Motivated by these representations, a general method for approximating the distribution of a sum of independent variables belonging to the generalized gamma family is proposed, which is based on mixtures of generalized gamma distributions. The methodology was illustrated for the Rayleigh, gamma, and Weibull distributions in Subsections 3.1 to 3.3, for specific scenarios. In these scenarios, the approximating probability density and cumulative distribution functions displayed accurate results. These approximations may be improved by increasing the number of moments matched or by adjusting the tuning parameter. There may be some cases where the solution of the system of equations (10), in Step 1 of the procedure, may be difficult to obtain. This is mainly due (a) to the fact that the moments of the generalized

gamma distribution are expressed in terms of gamma functions, which may present some computational problems or (b) to scenarios where it may be more difficult to fit a generalized gamma distribution. The system of equations in Step 2 (11) is very easy to solve since it involves only linear equations. In Step 3, the tuning parameter is defined. Although a measure of the impact of the tuning parameter on the precision of the approximation is not provided, this parameter is very important in the improvement of the approximation. After completing Steps 1 to 3, the approximating density and cumulative distribution functions can be easily used in practice since they are simple mixtures of generalized gamma distributions. The computation time of p values or quantiles is nearly zero. The authors aim, in the future, to simplify the proposed methodology, to develop user-friendly computational tools and to make the code available online for any interested user.

## Acknowlegements

This work was partially supported by the Fundação para a Ciência e a Tecnologia (Portuguese Foundation for Science and Technology) through the project UID/MAT/00297/2013 (Centro de Matemática e Aplicações).

#### References

- 1. Luke YL. The Special Functions and Their Approximations. London: Academic Press, Inc.; 1969.
- 2. Knopp K. Theory and Application of Infinite Series. Inc. New York: Dover Publications; 1990.
- 3. Marques FJ. Gamma-series representations for the sum of independent gamma random variables and for the product of independent beta random variables. *Recent Studies on Risk Analysis and Statistical Modelling. Contributions to Statistics.* Berlin, Heidelberg: Springer; 2018:241-253.
- 4. Stacy EW. A generalization of the gamma distribution. Ann Math Statist. 1962;33:1187-1192.
- 5. Aalo VA. Bit-error rate of binary digital modulation schemes in generalized gamma fading channels. IEEE Commun Lett. 2005;9:139-141.
- 6. Coelho CA, Arnold BC. On the exact and near-exact distributions of the product of generalized gamma random variables and the generalized variance. *Commun Stat Theory Methods*. 2014;43:2007-2033.
- 7. Marques FJ, Loingeville F. Improved near-exact distributions for the product of independent generalized gamma random variables. *Comput Stat Data Anal.* 2016;102:55-66.
- 8. Smirnov O. An approximation of the ideal scintillation detector line shape with a generalized gamma distribution. *Nucl Inst Methods Phys Res A*. 2008;595:410-418.
- 9. Zaninetti L. On the product of two gamma variates with argument 2: application to the luminosity function for galaxies. *Acta Phys Pol B*. 2008;39:1467-1488.
- 10. Zaninetti L. The luminosity function of galaxies as modelled by the generalized gamma distribution. Acta Phys Pol B. 2010;41:729-751.
- 11. Crooks GE. The Amoroso Distribution. Technical Note, Lawrence Berkeley National Laboratory; 2010.
- 12. Bourguignon M, Lima MCS, Leão J, Nascimento ADC, Pinho LGB, Cordeiro GM. A new generalized gamma distribution with applications. *Am J Math Manag Sci.* 2015;34:309-342.
- 13. Cordeiro GM, Ortega EMM, Silva GO. The exponentiated generalized gamma distribution with application to lifetime data. *J Stat Comput Simul.* 2011;81:827-842.
- 14. Nadarajah S, Gupta AK. A generalized gamma distribution with application to drought data. Math Comput Simul. 2007;74:1-7.
- 15. Balakrishnan N, Nevzorov VB. A Primer on Statistical Distributions. New Jersey: Wiley; 2003.
- 16. Yacoub MD. The  $\alpha \mu$  distribution: A physical fading model for the Stacy distribution. *IEEE Trans Veh Technol*. 2007;56:27-34.
- 17. Divsalar D, Simon M. Trellis coded modulation for 4800–9600 bps transmission over a fading mobile satellite channel. *IEEE J Sel Areas Commun.* 1987;5:162-175.
- 18. Hu J, Beaulieu NC. Accurate simple closed-form approximations to Rayleigh sum distributions and densities. *IEEE Commun Lett.* 2005;9:109-111.
- 19. Nadarajah S. A review of results on sums of random variables. Acta Appl Math. 2008;103:131-140.
- 20. Marcum JI. A statistical theory of target detection by pulsed radar. IRE Trans Inf Theory. 1960;IT-6:59-267.
- 21. Hitczenko P. A note on a distribution of weighted sums of I.I.D. Rayleigh random variables. Sankhyä: Indian J Stat Ser A. 1998;60:171-175.
- 22. Karagiannidis GK, Tsiftsis TA, Sagias NC. A closed-form upper-bound for the distribution of the weighted sum of Rayleigh variates. *IEEE Commun Lett.* 2005;9:589-591.
- 23. Meijer CS. On the G-function IVIII. Proc K Ned Akad Wet. 1946;49:227-237, 344-356, 457-469, 632-641, 765-772, 936-943, 1063-1072, 1165-1175.

- 24. Gil-Pelaez J. Note on the inversion theorem. Biometrika. 1951;38:481-482.
- 25. Feller W. An Introduction to Probability Theory and Its Applications, Vol. 2. New York: Wiley; 1971.
- 26. Amari SV, Misra RB. Closed-form expressions for distribution of sum of exponential random variables. *IEEE Trans Rel.* 1997;46:519-522.
- 27. Coelho CA. The generalized integer Gamma distribution basis a logarithmized gamma distribution and its characteristic for distributions in multivariate statistics. *J Mult Anal*. 1998;64:86-102.
- 28. Moschopoulos PG. The distribution of the sum of independent gamma random variables. Ann Inst Stat Math. 1985;37:541-544.
- 29. Ansari IS, Yilmaz F, Alouini M-S, Kucur O. On the sum of gamma random variates with application to the performance of maximal ratio combining over Nakagami-m fading channels. In: Proceedings of 2012 IEEE 13th International Workshop on Signal Processing Advances in Wireless Communications (SPAWC). Cesme, Turkey; 2012:394-398.
- 30. Filho JCSS, Yacoub MD. Simple precise approximations to Weibull sums. IEEE Commun Lett. 2006;10:614-616.
- 31. Yilmaz F, Alouini M-S. Sum of weibull variates and performance of diversity systems. In: Proceedings of the 2009 International Conference on Wireless Communications and Mobile Computing: Connecting the World Wirelessly. Leipzig, Germany; 2009:247-252.